
 

 

 

1  ـ1  
2

4
= 1

1

2
 

 

 

 

 ـ 2

3
8

<
3
6

                                    
10
12

=
5
6

  

3
2
5

< 3
4
5

                               
17
3

> 2
3
5

  

 ـ 3

 

 

 

 ـ 4 

 الف ـ

 ـ ب 
4

6
به  

2

4
 واحد کامل شود. 2نیاز دارد تا  

 ـ 5 

 

 

 

5ـ 6
64

100
 

 

1

8
 

1

2
 

 چهارم  سوم  دوم فواصل 

4

8
 

1

16
 

 



 

 

 

300ـ 7  ×
1

2
= 150          

2

3
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 ـ 14 

1
4

= پس کل          120 = 480       480 ÷ 3 = 160      480 − 160 =  نفر آمده اند 320

 ـ 15

240 ÷ 5 = 48 × 5 = 240       

240
240
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  گنجایش  کل ظرف

 

 

 


